



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \frac{2}{5} =$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right) + \frac{3}{5} =$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{2}{5}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{3}{4}\right)^0 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{3}\right)^3 + \frac{1}{5} =$$



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{109}{250}\right)$$

$$\left(-\frac{1}{6}\right)^3 - \frac{2}{5} = \left(-\frac{437}{1080}\right)$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) = \frac{107}{216}$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{1}{2}\right) = \frac{5}{64}$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{6}\right) = \left(-\frac{1}{6}\right)$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{2}{5}\right) = \frac{11}{25}$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{2} = \frac{3}{8}$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{3}{5}\right) = \frac{57}{320}$$

$$\left(\frac{3}{4}\right) + \left(-\frac{1}{2}\right) = \frac{1}{4}$$

$$\left(\frac{1}{6}\right) + \frac{3}{5} = \frac{23}{30}$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{3}{4}\right) = \frac{21}{16} = 1\frac{5}{16}$$

$$\left(-\frac{1}{3}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(\frac{2}{5}\right)^3 - \frac{3}{4} = \left(-\frac{343}{500}\right)$$

$$\left(\frac{3}{4}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{27}{50}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{2}\right) = \frac{3}{8}$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{5} = \frac{41}{180}$$

$$\left(\frac{1}{2}\right)^3 - \left(-\frac{1}{3}\right) = \frac{11}{24}$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{4}\right) = \frac{13}{36}$$

$$\left(\frac{1}{3}\right)^3 + \frac{1}{5} = \frac{32}{135}$$